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1. Introduction
Test configurations and declarations have been extensively discussed over the past few RAN4 meetings. However the last piece the puzzle, i.e. how the declarations and test configurations are actually used during conformance tests has not been discussed yet. In this contribution we initate the discussions on some of the things that need to be considered.
2. The relation between contiguous and non-contiguous operation

One important observation is that all BS capable of non-contigous operation (MSR-NC) is also capable of contigous operation. The reason is that the difference between MSR-C and MSR-NC is the precense of gaps in the RF BW for the MSR-NC configuration of carriers. However the definition of gaps do not have anything to do with the distance between carriers, their type and so on, instead the gap is defined by the requirements that are put in a part of the RF bandwidth. It then follows that MSR-NC configuration can easily be changed into a MSR-C configuration by simply removing the requirements on the gap(s). Since there are no changes to the actual carriers we conclude that a MSR-NC BS is also capable of MSR-C operation.

We can divide the requirements into a few categories, i.e. requirements that apply for MSR-NC only, requirements that apply for MSR-C only and requirements that apply for both.
2.1 Requirements applicable to MSR-C operation only

So far there seems to be no requirement applicable to contiguous operation only.

2.2 Requirements applicable to MSR-NC operation only

There are a few requirements of this kind which typically relate to requirements for the gap.

The handling of this type of requirement is relatively straight forward. Since it only applies for a MSR-NC capable BS it only needs to be tested if the BS support MSR-NC. It also makes sense to use a test configuration that actually has a gap, so to test this kind of requirement a non-contiguous test configuration must be used.

2.3 Requirements that apply to both MSR-C and MSR-NC operation

There are actually two kinds of requirements in this category. Requirement where the level is the same and requirements where the level is different. But there seems to be no requirement where the level is different for MSR-C and MSR-NC operation so we leave this possibility for now.

There are a few possibilities on how this can be tested.
1.
Test using both a contigous and non-contiguous test configuration. Obviously the non-contiguous test should not be performed if the BS does not support MSR-NC. The drawback of this approach is that the same requirement has to be tested twice.
2.
Test using the contiguous test configuration only. The undelying assumption is that the contiguous case is the most strict case. Note that this works for both MSR-C and MSR-NC capable BS.

3.
Test using the non-contiguous test configuration for a MSR-NC BS and a contiguous TC for a MSR-C BS. The assumption is that the non-contiguous case is most strict.

4.
For completeness sake we have the possibility to test using a non-contiguous TC as well. However the result would be that the requirement would not be tested for a MRS-C BS and this is clearly not desireable.

It is difficult to give any general guidelines on which of the above options that should be used. We believe that how to test should be considered on a case by case basis. 
3. Handling of multiple declarations
In certain cases a parameter may have multiple values depending on the operating mode. For example the power or maximum RF bandwidth may be different for MSR-C and MSR-NC.
One thing that has to be noted is that if the MSR-C and MSR-NC parameters are different it is not possble to know which TC is more stringent. The reason is that potentially the parameters may have any value and thus reasoning around which is most stringent is not possible. For example if a manufacturer declares 10W out power for MSR-C and 60W for MSR-NC the MSR-NC is probably most stringent. However if the declaration is reversed the MSR-C (at 60W) is probably more stringent.

One possibility is to limit the values that may be declared, e.g. by requiring that the MSR-NC output power can only be less than or equal to the MSR-C output power. However we believe this option to be too complex.

3.1 Requirements that apply to MSR-NC only

We start with the ”easy” case above: Requirements that only apply to MSR-NC operation. This type of requirements can only be tested using a non-contiguous TC and it seems reasonable that the TC should be derrived using the parameters declared for NC operation. Of course if the contiguous and non-contigous parameters are the same either set can be used.
3.2 Requirements that apply for both MSR-C and MSR-NC

The difficult case is requirements that apply to both MSR-C and MSR-NC. Here there are many possibilities to consider.
1.
For tests using both a contiguous and non-contiguous test configuration the handling of different parameters is quite straight forward. The MSR-C test configuration is generated using the parameters declared for contigous operation and the MSR-NC test configuration is generated using the parameters declared for MSR-NC.
2.
For tests using the MSR-C test configuration only, things get slightly more complicated. It is not possible to use only the parameters for contiguous operation since the parameter values for non-contigous may result in more stringent configurations. For example if a BS is declared to support 10W in contiguous operation and 60W in non-contigous operation testing using only the contiguous values will not be sufficient. 

There are two possible soultions. Either use the non-contigous values to generate a contiguous test configuration, or test the requirement using a non-contiguous test configuration generated using the the non-contiguous parameters. However generating a contiguous test configuration by using the non-contiguous may result in a configuration that is not feasible. So using non-contiguous parameters for contiguous test configurations or vice versa is not an option.
3.
For requirements where a MSR-NC BS is tested using a non-contiguous test configuration and a MSR-C BS is tested using a contiguos test configuration the situation is similar to case 2 above. Thus the solution here would be to test the MSR-NC BS with a non-contigous TC generated using non-contiguous parameters and a contiguous TC generated with contiguous parameters.

It seems that for the cases when there different values declared for the same parameter all requirements need to be tested using both a contiguous TC and a non-contiguous TC.

4. Summary
In this contribution we have discussed how introduction of MSR-NC will impact how tests are performed. There are different possibilities for testing requirements that apply for both MSR-C and MSR-NC, e.g. a contiguous TC or non-contiguous TC or both can be used. However for the case where different parameters are declared both TC must be used.
